oo OBob =0 =% o Dezimalzahlen Multiplikation (2-stellig)

Name: Datum: Ergebnis:
5.29 5.13 3.28

X 5.82 X 5.3 x  8.58

/7.6 /.03 2.16

X 4.6 x 3,59 x  3.71

4.36 1.53 3.03

x 497 x  3.57 x 8.23

3.87 5.08 5.03

X 436 x  5.81 X  8.68
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Dezimalzahlen Multiplikation (2-stellig)

Name:

5.29
X 5.82
30,7878
7.6
x 46
34,96
4.36
x 497
21,6692
8.87
x 436
38,6732

513
x 53
27,189

7.03
3.59
25,2377

X

1.53
3.57
5,4621

X

5.08
5.81
29,5148

X

Datum:
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Ergebnis:
3.28
x  8.58
28,1424
2.16
x 371
8,0136
3.03
x  8.23
24,9369
5.03
x  8.68
43,6604
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